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3TH(%)  1W(bp)  1M(bp)  YTD(bp) BIH(%)  1W(bp)  IM(bp)  YTD(bp)
2124 3373 1.0 -9.2 130 | o= 29 4.728 254 15.4 478
2034 3.305 40  -102 160 | 0= 34 4.507 259 15.1 498
2Insd 3340 43 -105 185 | 02K 51 4326 279 11 479
20104 3.410 8.9 -7.0 235 | 0= 104 4.306 231 7.6 427
31304 3310 38 -4.0 23.0 | 02K 30d 4.429 17.6 2.0 40.1

BTH(%)  1W(bp)  1M(bp)  YTD(bp) SI(%)  1W(bp)  IM(bp)  YTD(bp)
Soto1gy 3.460 -1.0 3.4 0.1 | oiFxH AA+ 3.830 13 -08  -153
Sottf 14 3.350 -2.7 -4.0 -3.7 | o{ExH AA- 4119 09 -20 -176
Sottf 2 3.385 5.1 -6.8 120 | SIAH AA+ 3.849 03 -4.6 -9.4
BAHH AAA 3,557 -1.4 -09  -120 | BARH AA- 3.951 0.4 -5.1 -9.8
23K AAA 3.688 -1.0 -13 -9.8 | SIAKH A+ 4.485 -0.7 -10.2 -237
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